STUDENT MATERIALS
PART 1: THE SCIENCE OF MATH

1. The distance from Earth to the Sun is 1.5 x 108 km. Scientists would like to place a
weather station halfway between the Earth and the Sun. How far away from the Earth
would the weather station be in scientific notation? Give your answer in scientific notation.

L5 x 0P = tBQO-ogo 00

150,000,000 * 1.5 = 100000000

15 x 0% = 5000000
=100,000,000

2. A bacteria sample contains 2.1 x 103 bacteria and doubles every hour. What is the size of
the bacterial population after 2 hours? Give your answer in scientific notation.

9.1 x \0° = 100 e e .15 TP 3¢
\OO b e g ‘\ ”“3 O 710 0 W@ \viows "ihﬁj
(O"\O@ W (e m&)mv\w I 3;&{&
4100 X % = i
\UG\LL\ xbsi \:\ g H gpf" %hp
O\.}\ YOQ\,&,\(A‘O\\ d{}u il)h S eyer: E

%‘MOO Wour & W5 been 2

» . B Y
N J",\ ~ L% }

V\/OL\‘{& {X\ )«— KL

MiPAC MA.8.6 — The Science of Math MICHI(‘E’%!N
Grade 8 3 ducation MiPAC

Michigan Performance



PART 2: SCIENTIFIC NOTATION IN THE SOUTH OF AFRICA

3. There are two countries, Lesotho and Eswatini, located within South Africa. Eswatini has a
population of 1.192 x 10°. Lesotho has a population of 2,281,000. What is the total
population of these two countries in scientific notation?
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= 2473000

4. Population density is a measurement of population per unit of land area. Eswatini has a land
area of 6,704 miles?. With a population of 1.192 x 10°, what is the approximate

population density (people per square mile) of Eswatini?

142 « e = 1,192,000
, 70,400
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PART 2: SCIENTIFIC NOTATION IN THE SOUTH OF AFRICA

5. South Africa has a land area of 470,900 miles2. With a population of 6.601 x 107, what is
the approximate population density (people per square mile) of South Africa?

470,900 x \0* = i«-—‘g‘zosig; U()
QGO! x |07 = Q)(%U 00

47,090,000 * b, 010,000
= 3.1084109...
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6. Inthe problems 4 and 5, you explored the population density of Eswatini and South Africa.
What do you think the challenges are for each country based on their size and population
density?
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